3660+5
IR o
A =l =1
S SEnE Ee BEORLEG HE JIS CBI0SkHES
w & o ¢ D N EXE {mm> 2. RO4
(mm) (mm) (mm) {(k g7&> BHE : MBS ¥
gA | &) BAE : MBI AR S WEASE
DWi1gK[C18 |19, 1 14 [ 12 2,53 B 1. By Y XSPTERSH
DWL125K | C25 | 25, 4 17 | 15 3. 44 1 =% we EE T 1
Dpwidtk|c3t1|[31.8 | 0.2 | 1.8 |19 ] 17 4. 36 * B & L AEUE | X )_:*"
DW1339kK | Cc39 | 38. 1 21|19 5,27 = BMERE = free
DWIS1K | C51 | 50, 8 24 | 22 7,10
» C19~CTER 208? :UEJ 18
owieak|cea[6a. 5| | , , [27]25 11, 10 - IR
DWI75K | Cc76 | 76. 2 ' : ao | 28 13, 40 B /%C)
g|owoosts—clgl axem  |(§ @ @
INFYTvoBARH

Bfi{mm) #®=gk

JIS—A3




